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[7 marks]

[5 marks]

[3 marks]

[5 marks]

(a) Draw a large sketch map of the area shown in the map extract to show the major landform features.

(b) Describe and explain the pattern of roads in the area shown.

(c) For the photograph:

(i) name and briefly describe the places shown in the photograph;

(ii) estimate the compass direction in which the camera is pointing.

(d) Referring to the map extract, discuss the advantages and disadvantages of Christchurch’s location.

1. Refer to the topographic map extract and the photograph that show an area on the east coast of the South Island of New Zealand.  The main town, Christchurch, has a population of about 300 000 people,

and is surrounded to the north, west and south-west by a fertile farming area known as the Canterbury Plains.  To the west of the area shown are the Southern Alps, a high mountain range formed by the

collision of two tectonic (crustal) plates.  To the south-east of Christchurch, and shown on the map, is the Banks Peninsula, an extinct volcanic cone that has collapsed, forming a caldera known as Akaroa Harbour.

The scale of the map is 1:250 000.  Heights are in metres above mean sea level.

      

SECTION A

TOPOGRAPHICAL MAPPING

Answer all parts of the question in this section.
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